3 J8A0 um) asea|d . panssal JubuAden % §._oz‘m:f } asesld paness) Jybuidon
pue ] A1

-~ (SA0edTebNST) 235013UT = 3X5L Syoezrebugips : < f,1enbg, =i 3xer’1 Z T0IPO
V(0001 / sweagTebngT) 119D =: sydedxebngt & SETR
7 {sureInIRBNgT) 1350LIUT =i - sweagurTebNngIps Yy (ZUONT)XISOLIUL =: 3X04° [ ¢ 10IPO
P Y9YONS » SOAEOWNNT =: SWeIHIEBDST et USY3 {TWANT < ZUONT) FT
o utbag SETR
£79583UT : SYDRIXEBIET sweInTEHNGT N (TUNNT) ITA50L3UT =: I%8L°T z 103ps
IeA ) ©uayl {ZunNT < TUmgT) T
‘GLE = ¥vdas ¥
15U0D 4 i M {(QXBLT ZUMNIPS} JUIOLIIE =i ZUWNNT
. g BpOD PAPTAGT ; {{axal " TUONIPS) JUIOLIAE =: Tuny
» I PRy £ (303[qo1 :1opUBS)ADTTIE TOULY‘ TUCTISONBUIT] mn%mmo.\ﬂm - ey cwmg
/) t79H23UT zumyT ‘TUmMNT
(syTew ) Z°€'T uoriseny // < 5 "
1y, {{3uelgol :19puasg)yDTITIHT 2 IDWiq: [UoTisenduryi ainpasoxd
_ R ; : /f
: fpua . (s3Tewm §) T'2'T uorasend //-
ﬂmu Lm ‘9 ‘Aouszandyy ‘3SODIT}ITISOLIBOTI =: IXDL‘18037ps 11
) . - {IOTHE « SOACDUNNT =:15057 (2
+ (EoYRDUMKT) 1350134 -~ ; ! L1aRd ™, i I
o Gl el T e s
. v Iu mﬁ.@.i..ﬁ@.ﬁd&.%ﬁ?ﬁg.u — x\u ¢ﬂwwn 1\;%& f3UTTTD =: XOoTod" i poTud
. uMJJ% ‘ {U,x_ﬁw MJZJEJ : iTesy 318001 - i
_ Ten ’ ‘asTey =: parqeud ¢ p_10uaq
{05661 = EOTHd | 29 mp : fopTH"y 10TUd
35Uy | st 445\5..\ ‘_Ow iy utbeg
BPOD PEPTACIZ /[ {{103[g0L !IPPUSE)SIBSAIWIOS " TUOTIS SNTUIT L ainpasoxd
f{qoslgon "nmvﬁmmvmmcmnomexmusnanU.HGOﬂpmmnoﬁuwB sanpasoxd . //
/1 (syxem g) 1'T uorisend [/
(exTeR S) T°E°T uorasend // i
/!
.ﬁ.\wu {urpry 94}
= pus
{ZPIOME =2 IXSL-ZpPIOMADS woTIRIUAmL TAUT
' n\\_;_a:unozm =I IX8L'IpIOMIDPS
sl . {BuTaqs pIoMsseds
: APIONAURLE =i ZPIOWS fasbajur 1 soyeWINT
§ _AZPIONS =: TpIons {TUOTIERNQWIFT :TUOTISeNBWIZ
ZHTPIOME =: propdusls r TEA
T faxeL zpIoMIp® =: Zpaows
e v.ﬁxoa.%uozwuw =1 [pxoms FRHe
urbag { suoriererosp 2TIURg }
{BuTIIS :proMdWsLs afTand
{BuTI3g :zZpaoms ! [pIOMS { suotiereToep 83eBATId }
ITA | areatad
. 2p0OD pepTacId // i
f(308fool :39pUsS)NOTTIZ ¢ [OUIC: [UOTISSNDUIIL SInpasoid {{308fqol :T8pUBS)HITTDE_p_TOUAG 8Inpsooiad
7/ {{308[gol :T9PUSS)AVTTOZ ¢ DUl srnpaooxd
(syxew g) z'z"1 uorasend // {1 {308lqog "Mwﬁﬂwm_xu.ﬂu.ﬂ”w”ﬂommu sanpaosoad
77 { {(ao0slgpy, :a8pUSS)HOTIOT ¢z TOUIY aInpadoxd
! {108lqpr :aspuss)sbueypsayeumpyous srnpsooxd
‘pus ¢ {209(qol :T9PUBS)HOTITIT § TOUAG axnpasoxd
{¢ ¢ (zomNT ¢ TamNT ) XBW) TISOFIUT =:13x8L T & [02D0 {(108[qoy (TepuURE)AOTIOZ § 1OUIG sInpesoxd
asTe ! (30alqoy :Xepusas)yDOTTIL I0OUIY oxnpadoxd
. TenbT, =: J¥8r‘r 7 183pe f{19a{qpl :aspusg)elearduzol’ sanpasold
Usy3 (ZUNNT = TEONT) JT :{108lqor ;18puas)AOTIIC Z 1DUIG saupadoxd
O}
SaUKRPING BuBLep — DSN ) saulpping Bubie — OSN
2102 JeqwsroN/330 : Pl LdrABojouyos ). uogewLIop| £}0Z Jequiaronf3gQg £l Ld/ABojouyos | uoneLuIoUj

P oa i =g omq



Information Technelogy/P1 13 DBE/Novernber 2017

NSC — Marking Guidelines

procedure btnQl 2 2Click(Sender: TCbject):
procedure  FormCreate (Sender: TObject):
procedure binQl 3Click({Sender: TObject);
procedure htnQl 5 2Click(Sender: TObject):
procedure btnQl 5 1Click(Sender: TObject);
procedure cmbNumCakesChange (Sender: TCbject):
procedure btnQl 2 1Click(Sender: TObject);
procedure rgpQl 4 1Click({Sender: TObject);
procedurs btnQl 4 2Click(Sender: TObject);
procedure btnQl_4_3Click{Sender: TCbject):

private
{ Private declarations }
public
{ Public declaratiens }
end;
var

frmQuestionl: TfrmQuestionl;

iNumCakes: integer;

sPassword: String;
implementation

{$R *.dfm}

/7
// Question 1.1 {3 marks)

IP4
procedure TfrmQuestionl.FormCreate (Sender: Tohject);

begin Baawg £
pnlQl 4.Hide: Av~  Colowr

btnQl_4 3.Enabled := false;

pnlQl _l.Color := clLime; v
prlQl_1.Font.Size := 15; e

f}éwxa{a er

enl@l d.Caption := 'IT is FUN!';
end;
-
3)
/i
// Question 1.2.1 {4 marks)
//

procedure Tferuestionl.bthl_Z_lClick{Sender: TObject) ;
var
iMuml, iNum2: integer;

begin : £ N
iNuml := StrTolInt (edtNuml,.Text); 3 o
iNum2 := StrTolInt {edtNum?2.Text);

if {(iNuml > iNum?) then o
edtQl_2 1.Text := IntToStr (iNuml)

else
if (iNum2 > iNuml) then v
edtQl 2 1.Text := IntToStr(iNum2)
else
edtQl 2 1.Text := 'Equal';l//
Copyright feserved
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{OR
if (iNuml = iNumZ)} then
edt@l 2 1.Text := 'Equal’

else
edtQl 2 1.Text:= intToStr(Max(iNuml, iNum2)):}
end;
/i
// Question 1.2.2 {5 marks)
Ies

procedure TfrmQuestionl.btnQl 2 2Click(Sender: TObject,,
/{ Provided code
var

sWoxdl, sWord2: Strings

sTempWord: String:

begin
sWordl := edtWordl.Text;
sWordZ := edtWordZ.Text;

sTempWord := sWordln~
sWordl := sWord2:
sWord2 := sTempWord: Vﬂ

edtWordl.Text := 5Wordlf?b/’ '
edtWordZ.Text := sWordZ;

and; i

)
7
// Question 1.3.1 {5 Marks)
rf
procedure TirmQuestionl.cmbMumCakesChange (Sender: TObject):
// Provided code

const
PRICE = 159.50;

var

rCost: Real; . b Nuw Cﬂr‘?uﬁ -E'?.';’s ’
begin v 22 \bf'«ium&x‘twe:b dems L 3

iNumCakes := cmbNumCakes.ItemIndex + 1; 1 3 /

imgCakePic.Picture.LoadFromFilg1‘Pict' + IntToStr{iNumCakes) +

rmr): E . . -
rCost:= iNumCakes * PRICE; (,3

edtCost.Text ;= FloatTeStrF{rCest, ffCurrency, &, 2}: Cﬁ‘)
end;
Vi
// Question 1,3.2 {5 marks)

//
procedure Tferuestlonl btnQl 3C11ck(Sender TOkject): ;?ﬁuﬁ¢i %L? 4]

// Provided code e

const

SUGAR = 375;

var

iSugarGrams, iSugarPacks:integer;

begin

iSugarGrams := iNumCakes * SUGAH; v 2
edt3ugarinGrams, Text:= IntToStr(iSugarGrams) ; /gf
iSugarPacks := C&il (iSugarGrams / 1OGO}:»//) s
edtSugarPacks.Text := IntToStr(iSugarPacks);

end;
Copyright reserved Please turn over M
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i
7/ Question 1.5.1 (6 marks) )
s

procedure TfrmQuestionl. ben@i_5 1Click(Sender: TCbject);

var
iMum: integer;
rSquareRoot: Real;

begin
redQl 5_1.Cle
iNum = StrTjnhV}r\pu%é:('Perfect Square', 'Enter number', ''}}: A=
r8quareRoot i= Sgrt(iNum):

if rSguareRoot = trunc(rs

qﬁé;;Rcut) then

redQl 5 1.Lines. Add(IntTostr{iNum) + ' is a perfect sguare.’)

else
redQlﬂﬁ_l.Lines.Add(IntTcStr(iNum} + ' is not a pe ¥ece square.'):
end; )
17
// Cuestion 1.5.2 {7 marks}
i

procedure TfrmCuestionl .btnQl_5 2Click(Sender: TCObject);

// Provided code

const
MULTIPLIER = 3;
var
isum, iNum: integer:
sOutput: String;
begin

redQl 5_2.Clear;
sOutput = 'J;

® igum 1= 0;¥
iMm:?lnﬁ/

repeati

sQutput := sOutput + IntToStr(iNum) + * ';

e iSum := iSum + iNum; v

iMum := iNum * MULTIPLIER;

suntil iSum > 1000; v

\'d

N
redl 5_2.Lines. Add(sOutput) /f// (?3/

end;

end.

chyrighk reserved
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1
// Question 1.4.1 (4 marks)

//
procedure TfrmQuesticnl. rgle 4 _1Click(Sender: TObject) s
bng.n i//‘ :
if (rgpQl_4 1.ItemIndex = 0) CR {rgpQl 4 1.ItemIndex = 2} then
pnlQl d4,show

else v | -
‘pnlQl_4.Hide; '

end;
&)
I
// Duestion 1.4.2 {11 marks)
/I

procedure Tferuestionl.bth1_4_2Click{Sender: TChject);
var

i, iCountChar: Integer;

pvalid: Booclean;

begin "D—E'F “TMEN: TASIC |
bvalid := false; - DUcA - 4
iCountChar 1= 0; v/f ‘ PRIVAT: -« AG X383, 1.oiAD00T ¢
sPassword := edLPassword Text; e, mamp AL
if lengthtsPassword} »>= 6 then U/f 2 e
begin
if sPassword[l] in ['A" .. '&f ] then -
for i := 2 to length(sPassword} dot //) ‘ i
if sPasswordlil] in [s$', '@', &1, '&'T then
_;nc4400untﬁhar%
if 'iCountChar >= gbentff
pegin

Showﬁessage( Valid Password'):
btnQl 4 3.Enabled := true;
bvalid := true;

end;
end;
if (bValid = false) then

begin !/
showMessage('Invalld/Passwo d'):
edtPassword.Text gﬁf"'
end;
end;

I
// Question 1.4.3 ) {5 marks}

I
procedure Tferuestionl.bthl_é_EClick{Sender: TObject):
begin >

if sPassword[l] = '2' then

sPassword[l} := 'A"}

else é‘f/ va/ u/
sPassword[1l] := char{ord{sPasswor [133+1):
edtPassword,Text := sPassword:

end;

Copyright reserved - Please turn over mﬁ%



